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 9 

 WACC 
 0.5:1 900,000

 1,800,000  WACC 

 = 900,000/(900,000+1,800,000) = 33.33% 
 = 1,800,000/(900,000 + 1,800,000) = 66.67% 

 13% 
 2  Bond 

Yield Plus Risk Premium  Dividend Growth  
 Bond  Risk 

Premium  3%  

  Bond Yield Plus RP = 13% + 3% = 16% 

 Dividend Growth  1  105,277.20 
 1,800,000  10% 

 (Dividend Growth Model) = D1/P0 + g
    = 105,277.20/1,800,000+10%= 15.85%  

 = (15.85%+16%)/2 = 15.92%  WACC 

  WACC = (13%)(1-0.3)(33.33%) + (15.92%)(66.67%) = 13.65% 

 Free Cash Flow 

 Y1 Y2 Y3 Y4 Y5 
EBIT(1-T) 235,811.33 715,467.55 (167,194.66 ) 1,068,296.64  1,622,387.72 
Depreciation 820,766.67 569,655.56 871,844.44 239,411.11  208,022.22 
Operating CF 1,056,578.00 1,285,123.10 704,649.78 1,307,707.75  1,830,409.95 

(1,897,300.00 ) 0.00 (812,400.00 ) 0.00  0.00 
 NOWC (1,384,886.21 ) (524,624.09 ) 449,052.69 (221,889.13 ) (489,211.11 )

FCFF (2,225,608.21 ) 760,499.01 341,302.47 1,085,818.62  1,341,198.84 



(139)

 NPV  5 
5  Cash Flow  5 
1,800,000 

 Y1 Y2 Y3 Y4 Y5 
FCFF (2,225,608.21 ) 760,499.01 341,302.47 1,085,818.62  1,341,198.84 

    1,800,000.00 
Total FCFF (2,225,608.21 ) 760,499.01 341,302.47 1,085,818.62  3,141,198.84 

     
NPV 1,170,597.93      
IRR 33.10%     

 NPV  1,170,597.93 
 5  IRR  33.10%  WACC 

 Pay-Back Period 
 Pay-Back Period  Discount-Payback period 

 Y1 Y2 Y3 Y4 Y5 
FCFF (2,225,608.21 ) 760,499.01 341,302.47 1,085,818.62  1,341,198.84 
PVCF (1,958,307.50 ) 588,793.49 232,506.96 650,857.60  707,382.05 
Cumulative (1,958,307.50 ) (1,369,514.01 ) (1,137,007.05 ) (486,149.45 ) 221,232.60 

     
Discount Payback = 4.69  Years  

 Discount-Payback period  Cash Flow 

 4.69  4 

 Sale 
Promotion  Sale promotion 

 = 500 

 1  1 
 60% 
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Sale Deviation
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 1  500 
 3,900 

  3,900 – 500 = 3,400 

 1 

  8,741,400 / 3,400 = 2,571 

 1  2,571 
2  2,571/2 = 1,285 

 2,560  100% Production Utilization 
 Production Utilization  1,285/2,560 = 50% 

 50% 

10  10*50% = 5 

Sensitivity Analysis 
 Sensitivity  2  10% 

 10%  NPV 

Sale Revenue NPV 
10% 2,076,989.52  

0  1,043,730.97  
-10% -   318,513.43  

Expected NPV 934,069.02  
SD  1,201,510.67  
CV 1.29  

Cost NPV 
10% -4,043,915.65  

0  1,043,730.97  
-10%  4,858,374.95  

Expected NPV 619,396.76  
SD  4,466,289.19  
CV 7.21  

Cost Deviation
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 Cost 

 Inventory 

Y1 Y2 Y3 Y4 Y5 

 (Quick Ratio) 3.56 12.02 8.41 8.50 54.89 
 (Current Ratio) 3.56 12.02 8.41 8.50 54.89 

 (Operating Working Capital)  1,384,886.21  1,909,510.30  1,460,457.61  1,682,346.74   2,171,557.85 

 3 

 Inventory, 

Y1 Y2 Y3 Y4 Y5 

8.64 20.41 31.42 73.43 Infinity 
 (Total Asset 

Turnover) 3.10 3.99 6.68 7.22 7.46 
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Y1 Y2 Y3 Y4 Y5 

 (Gross Profit Margin) % 67.53% 64.77% 60.94% 61.96% 62.69% 
 (Operating Profit Margin) % 3.62% 9.88% -1.70% 9.99% 14.05% 

 (Net Profit Margin) % 1.42% 6.20% -2.21% 6.77% 9.75% 
 (Return on Total Asset) % 4.38% 24.76% -14.79% 48.91% 72.67% 

 (Return on Fixed Asset) % 12.22% 126.48% -69.58% 497.21% Infinity 
/ % 6.26% 35.37% -14.79% 69.87% 103.82% 

 (Return on Equity) % 7.21% 32.80% -18.95% 55.91% 74.02% 

 3 

Y1 Y2 Y3 Y4 Y5 

0.39 0.25 0.22 0.13 0.02 
0.64 0.32 0.28 0.14 0.02 

/ % 59.94% 69.51% 85.51% 85.12% 81.38% 

% 60.82% 75.48% 78.06% 87.48% 98.18% 
2.26 9.62 -3.30 31.42 108.55 

% 21.15% 17.83% 12.57% 1.91% 0.00% 

 3  3 
 3 

Scenario Analysis 

 Scenario analysis 
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 3  Best Case, Base Case  Worst 
Case

Probability Revenue LT Debt ST Debt NPV  
(5 Years) 

IRR Discount Payback 
period 

Best Case 20% 10% 1,800,000 - 2,671,123.23 51.38% 3.61  Years 
Base Case 50% - 900,000 900,000 1,170,597.93 33.10% 4.69  Years 
Worst Case 30% -10% 500,00 - 49,636.48 13.06% More than 5 Years 
        
WACC = 13.65%  Expected NPV => 1,134,414.55   
   S.D. =>  908,830.22   
   C.V =>  1.25   

 Best Case  NPV  2,671,123.23  4 
Worst Cast  49,636.48  5 

 1,134,414.55  Base Case 
 C.V. (Coefficient of Variations)  1.25 


